NOTES:

10

10

DETAIL A
SCALE1:4

DETAIL B
SCALE1:4

DOCUMENT STATUS:

NOTICE OF PROPRIETARY INFORMATION

THIS DOCUMENT SHALL NOT BE REPRODUCED NOR
SHALL THE INFORMATION CONTAINED HEREIN BE
USED BY OR DISCLOSED TO OTHER EXCEPT AS
EXPRESSLY AUTHORIZED BY UNISEN

9 8 7 6

MATERIAL
SEE BOM

FINISH
N/A

VENDOR:

REVISIONS
REV. DATE DESCRIPTION ECO BY
A 04-25-07 PRODUCTION RELEASE 11573 DN
J
AL F®

PIN:

ADJUST SHROUD BRACKETS UNTIL THE INNER
EDGE OF BRACKETS ARE BEYOND THE OUTER
EDGE OF DISK GUARD PLATE. —

DISK GUARD PLATE

G
F
ITEM | PART NUMBER DESCRIPTION QTY
1 020-6633 SHROUD, CENTER COVER, EL6200 1
2 020-6678-01 GUARD, UB, LEFT 1
3 020-6678-02 GUARD, UB, RIGHT 1
4 020-6818 BRACKET, SHROUD - 1, EL6200 2 E
5 020-6819 BRACKET, SHROUD - 2, EL6200 2
6 020-6820 BRACKET, SHROUD -3, EL6200 2
7 020-6821 BRACKET, SHROUD -4, EL6200 2
8 050-1816 LABEL, ID PLATE, UNIVERSAL 1
9 050-1956 LABEL, PATENTS, EL6100 & 6200 1
10 110-0380 SCREW, 10-32 x .375, BHC, HE, BO 8
11 110-3026 SCREW, 10-24X.50" PPHTCS 12 5
12 110-3298 SCREW, 5/16-18X.75,BHC,HK,SS,NP 2
13 110-3341 SCREW, 8-32 X3/8 BHC, HE, SS 8
14 110-3342 SCREW, 8-32x5/8, BHC,HE,SS 2
15 110-3366 SCREW, 5/16-18 X 1.5, SBHCS, SS 4
16 110-3396 SCREW, #8-18x1-3/4,PHT-A,PH,CS 24
17 140-3300 CAP, UPPER CRANK, EL6200 2
18 140-3301 CAP, LEG AXLE HOUSING, EL6200 2
19 140-3367 U-NUT, 5/16-18, PANEL .120-.130 4
20 721-1071-01 ASSY, SHROUD, TOP, LF, EL6200 1
21 721-1071-02 ASSY, SHROUD, TOP, RG, EL6200 1
22 721-1072-01 ASSY, SHROUD, LOWER, LF, EL6200 1
23 721-1072-02 ASSY, SHROUD LOWER, RG, EL6200 1
24 721-1081 ASSY, DISC CAP, EL6200 2
25 721-1106 ASSY, REAR STEP, LABEL, CT6200 1
26 791-1111 ASSY., COVER]TVL\J/{SPER?SL[)E(():IEQ(/)I(E) FILM, CENTER 1 B
27 721-1143-01 ASSY,SHROUD PANEL,LT,TBTx 1
28 721-1143-02 ASSY,SHROUD PANEL,RT,TBTx 1
29 721-1151 ASSY,UB LINKAGES AND LEGS,P-TBTx 1
IZEER/:N(SOES@L:’:;ME)SS OTHERVi/ISE‘SPECIFIED UN|SEN’ INC. DBA 14410 Myford Road
00 = £ 220 070 FRACTIONS 2+ 132 Irvine CA 92606
X. =+ .125" (3.20MM)
PART NO REV
DRAWN | DN 04-11-07 721-1152 A A
CHECKED TITLE
APPROVED ASSY, SHROUD, P-TBTx
U.0.M. INCH SCALE: 1:8 |SHEET 10F 1| SHEET SIZE: C
2 1


https://www.gympart.com/itemdesc.aspx?ic=STX020-6633&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6678-01&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6678-02&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6818&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6819&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6820&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-6821&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX110-0380&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX110-3026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX020-3298&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX110-3341&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX110-3342&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX1035&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX140-3300&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STX140-3301&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=ST10335&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB718-1143-01&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=STB821-1143-02&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

